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Important Instructions for the Candidates :

1. This Test Booklet contains 50 questions printed in English and
Assamese. Out of these, the candidate is required to answer
any 40 questions. If a candidate answers more than 40
questions, the first 40 answered questions will be considered
for evaluation.
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The CODE for this Test Booklet is A. Make sure that the
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on this Test Booklet. Also ensure that your Test Booklet No.
and OMR Answer Sheet No. are exactly the same. In case of
discrepancy, the candidate should immediately report the
matter to the Invigilator for replacement of both the Test
Booklet and the OMR Answer Sheet. No claim in this regard
will be entertained after five minutes from the start of the
examination.

Before attempting the question paper kindly check that this
Test Booklet has total 28 pages and OMR Answer Sheet
consists of one sheet. At the start of the examination within
first five minutes, candidates are advised to ensure that all
pages of Test Booklet and OMR Answer Sheet are properly
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mark will be deducted for each incorrect answer. If more than
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307 EAS/A (2)
1.  Match List-I with List-11I :
List-1 List-I1
(Author) (Book/Poem)
(A) Gary Snyder (I)  Mountains and Rivers Without End
(B) Wendell Berry (I) The Closing Circle
(C) Rachel Carson (II) Silent Spring
(D) Barry Commoner (IV) A Place on Earth

Choose the correct answer from the options given below :
() (A)-(@V), (B) - (D, (C) - (I, (D) - (D)
2) (A)- D, (B)-1V),(C) - (D), (D) - (IT)
(3) (A)- (D, (B) - (IV), (C) - (1D, (D) - (D)
(4) (A)-1V), (B) - 1I), (C) - (1), (D) - (I)

2. Match List-I with List-II :

List-1 List-1T

(Concept) (Proposed by)
(A) Ecology (I)  Norman Myers
(B) Ecosystem (I) Ernst Haeckel
(C) Human population growth (III)  Sir Arthur Tansley
(D) Hot spots (IV) T R Malthus

Choose the correct answer from the options given below :
(1 A)- D, B) - 1V), (C) - (1), (D) - (1)
2 (A)- D, (B)- 1D, (C) - (IID), (D) - (IV)
(3) (A)- (I, (B) - (), (C) - (IV), (D) - (1)
@ (A)-V), (B) - (D, (C) - (1), (D) - (D)
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1.

2.

OIfTFI-1 F SIfAPT-11 T $CS TR -
SIfeTFI-1 SIfeIFI-11
(TT4F) (Reorot/afen
) R CIRIEE (D %%%%?out End
(B) (0¥ Q@A (I  The Closing Circle (N1q'&1 48®)
(©) WW (1) Silent Spring (N 1W)
(D) @A F IR (IV) A Place on Earth (&l_ﬂ'gﬂ_ﬂ' é@@ PIEY
OeTe Al REFTYRINI A0 GGI0! IR T :
1 (A)-aAv), (B) - (@), (C) - (1D, (D) - (II)
@ A)-@,B)-1V),(C) - 1), (D) - (I)
(3) (A)- D, (B) - 1V), (C) - (D), (D) - ()
@ (A)-aAV), (B) - (1), (C) - (1D, (D) - ()
SIfeTFT-1 F OIfeTFT-11 T (30 MR
SIfeTFI-1 SIfe 3111
(GLERLY (AJIIHTAN)
() ARES-R[Feam A1 B33 R (Ecology) @ ST g
(B) Wﬁ%@_\‘xﬂ (Ecosystem) (1) T (X (FA
(C) WNINg GRS ﬁ (Human population | (111) %Wﬁﬁ? (G
growth)
(D) =B =0 A (GRIHAI GBI (Hot spots) | (1v) 6 SR (NAAR

OeTS M RFFTRIN IS GeIL6! AR FT -
(1) @A) - @, (B)-1V), (C) - (I), (D) - (I11I)
(2) (A)- D, (B) -, (C) - (1), (D) - (IV)
(3) (A)-{D, (B) - 1), (C) - AV), (D) - (I)
4 (A)-1V), (B)- 1), (C) - (D), (D) - (II)
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307 EAS/A (4)

3.  The ecological thought, which believes in saving the forests as trees give oxygen, better rainfall and air

quality and not saving the environmnet for its true innate values, dominantly belongs to
(1) Deep ecology

(2) Social ecology

(3) Eco-feminism

(4) Shallow ecology

4.  Which of the following is not a major goal of WWF ?
(1) To conserve world biological diversity
(2) Sustainable use of renewable natural resources
(3) Reduction of pollution and wasteful consumption

(4) Creating world wide fund for education

5.  The first Earth Day was celebrated on
(1) 20 April, 1970
(2) 22 April, 1970
(3) 05 June, 1970
(4) 20 April, 1972

6.  The plants and animals that cannot maintain a constant internal environment, are called :
(1) Regulators
(2) Migraters
(3) Conformers

(4) Suspenders

7.  The number of individuals of the same species that have come into a habitat from elsewhere during the

time period under consideration is referred to as
(1) Emigration

(2) Immigration

(3) Natality

(4) Mortality

SPACE FOR ROUGH WORK
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3.

AFoF AFIIF 2T STOTS NSNS YR AT STH BRI A0 I Frenf]

WIFCH M, TFS AT IRATS S ¥ I (TN NR- RN =N

mmwmmgw@mﬁqﬁwﬁﬁz@mmws
I BN |

(D) ﬂ@?(Deep) "ﬁ"@%ﬁ"\ﬁm

#)) W(Social) ﬂﬁ’%—ﬁ’@lﬂ

3) WWW(ECO—feminism)
4) SMOIF (Shallow) AfRIEfS-Fsar

TeTe AR fSo® (G WWF 218 % &/ FfS e 21 Sy 9= 2
(1) <Y TTRE [RoarT AsTHqT

2) VAP ATFGH TN IZVHN IR

(3) I A TRGAHI SATOISN 25T FT

@) PrFCFas AR I ST 1o~

SN[ A 4G RIS (Earth Day) © SHATAN I (=R |
(1) 1970 579 20 4Af&eTo

(2) 1970 B< 22 qffeT®
(3) 1970 59 05 GN®
4) 1972 51 20 qfHeT®

R 21N o Sfe dF BT TorsAT AR I912 AT (R, SEs
CIGIERE

(1) (IQTE0S I NITF
(2) WIRAOR A AJGP
3) INE R I ST
(4) QRUASE [ AP

(I IF IO TVTFAS (HICAT JF IR AN SIRIAI WD (P0! AGRS
SR STHI ST (T ]

(1) IRAJG 2) ABAIG
(3) GRS 4) YIRS
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8.  Which of the following statements are correct ?
(A) Species that invade a bare area are called as pioneer species.
(B) In primary succession on rocks, the pioneers are usually lichens.
(C) In primary succession in water, the pioneers are reed swamps.
(D) In secondary succession, species that invade depend on condition of soil, water and environment.
Choose the correct answer from the options given below :
(1) (A), (B) and (D) only
(2) (A), (B) and (C) only
(3) (A), (B), (C) and (D)
(4) (B), (C) and (D) only

9. Match List-I with List-I1I :

List-1 List-11

(State) (National Park)
(A) Madhya Pradesh (I)  Namdapha National Park
(B) Arunachal Pradesh (I) Guindy National Park
(C) Meghalaya (III) Nokrek National Park
(D) Tamil Nadu (IV) Kuno National Park

Choose the correct answer from the options given below :
(1) (A)-AV), (B) - @), (C) - (IID), (D) - (IT)
(2) (A)-1V), (B) - ), (C) - (D), (D) - ()
(3) (A)-AV), (B)- D), (C) - (ID), (D) - (IIT)
@) @A) -®D, B)-1V), (C) - (D), (D) - (I1I)
10.  Which of the following soil has high water retention capacity ?

(1) Sandy soil (2) Loamy soil
(3) Sandy silt soil (4) Clayey soil

SPACE FOR ROUGH WORK
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8.

9.

10.

Oeto Ml RIFSIAIRT fowTe (FINER @5 2

(A) AT (2 AT I HLA FM ACSITHE AN I AL F 2GS (1 2T |

B) TS TOT IR AT TN RTFHG ATLRATS 2N (Z0F AN A ALAT#F
A |

(C) AT TOT IS ATANF RIS AN AGINS (R NA-L19T |

(D) IRIBIT (N A1 Gl I RIS (FNERIR ASOT T4 FRI T
fR$3 TR TN, T T AR AITZ[ 827 |

TeTo Al RSFTYRINT 0T BSIC6T AR BT -

(1) (PLT (A), (B) AT¥ (D) (2) (PLeT (A), (B) AT (C)
(3) (A), (B), (C) ATI<¥ (D) 4) (R4 (B), (C) AI<¥ (D)
SIfeT 1.1 F OIfeT 111 I (T® AR -
SIfdSI-1 SIfdSI-1
6 [10) @ET SHI)
(A) WET AT O TRl TG S
(B) FNH THH an oS I S
(©) (NS ) NIES AT O
(D) OIfNETIG (V) RN G Sy

OeTe A [REFITYZI NI ADF GGIo! IR FT :

(1 (A)-(1V), B) - (@), (C) - ), (D) - (II)

(2) (A)-(@V),(B) - 1I), (C) - 1), (D) - (D)

(3) (A)-1V), (B)- D), (C) - D), (D) - (I11I)

@) (A)- (@, (B)-aAV), (C) - D), (D) - (1)

SeTo AT (I AFIII NHI T GALIY FHO] AR ?

(1) T (Sandy) WG ) JAMAGRA-AFT (Loamy) TS
3) GIGIEEI (Sandy silt) I 4) VGRS (Clayey) e
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11.  Which of the following factors can affect the soil respiration process ?
(A) Temperature
(B) Soil moisture
(C) Aeration
(D) Number of soil microbes
(E) Quality of organic matter in the soil
Choose the correct answer from the options given below :
(1) (A), (C)and (E) only (2) (A), (B), (C) and (D) only
(3) (B), (C) and (D) only 4 (A), (B), (C), (D) and (E)
12. Which of the following is not a criteria air pollutant under the National Ambient Air Quality

Standards (NAAQS) ?
(1) CO, (2) CO

(3) Oy (4) Pb
13. The disease "ltai-Itai" is caused by contamination of drinking water with which of the following ?

(1) Mercury (2) Cadmium
(3) Arsenic (4) Chromium

14. Which of the following are essentially required for photochemical smog formation in ambient atmosphere ?
(1) Smoke, water vapour and low temperature (< 25 degree)

(2) NO,, SO, and high temperature (> 25 degree)
(3) NO,, VOCs and high temperature (> 25 degree)

(4) Smoke, NO, and low temperature (< 25 degree)

15. Arrange the following stages of primary succession of plants from last stage to first stage :

(A) Reed-swamp stage (B) Submerged plant stage
(C) Marsh Meadow stage (D) Phytoplankton
Choose the correct answer from the options given below :

(1) (A), (B), (O), (D) 2) (©),(A), (B), (D)

(3) (D), (B), (A), (O) 4 (A),(C), (B), (D)

SPACE FOR ROUGH WORK
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11.

12.

13.

14.

15.

TS T (FINRIR FIEF WHI AN ATFAS AR (HNATT ?

(A) TRl

(B) WIfo S

(C) IO (Aeration)

(D) WIES YF TG ST

(E) WIo® AT (GifIF LT B9 W

TS Wl REFTIZI?RN SAOF TSRO IRV FT

(1) (R (A), (C) AT (E) (2) (PL (A), (B), (C) AT+ (D)
(3) (P (B), (C) &I+ (D) 4 (A), (B), (), (D) AT (E)
OO LT AR IR BTN AT (NAAQS) AR Oe® AT (FICOIP
R Iy amT< Ry o T @1 1% 2

(1) IR TIRAARG (CO,) 2) PR VAAHRG (CO)

(3) TG (0y) 4) = (Pb)

"BGI1R-2012" (el (INRRY = 7¥® 2N (YRS oo 27 |
ORI RUEIIE] ) (PGHEN

() SBF 4) =

AIIENFIS IATNYTS NCEAB- IS I (ORI NCRA ') 579 (XA A
weT® AN OO0 (FINRIR A2 2
(1) (44T, ST o7 W FN B9 (< 25 fHA)

(2) NO,, SO, ¥ WEH Tl (> 25 G

(3) NO,, VOCs WIF AfIF Gl (> 25 fGa

(4) (&I, NO, oI N BT ( < 25 6N

AT COIAFIR TN LS I HBINA AT JTOSIR
(A) 3 T NT-YI9NT G T

(B) GeTNY Bfew =y

(C) O O iy

(D) GrERATP

TeTo Al RSFTYRINI 0T BSICoT IR BT -

(1) (A, (B),(C), (D) 2) (©),(A), (B), (D)
3) (D), (B), (A), (O) (4) (A), (©), (B), (D)
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16.

17.

18.

Match List-I with List-I1I :

List-1 List-I1

(Forest Act/Policy) (Year)
(A) Forest Act O 1927
(B) National Forest Policy (II) 1988
(C) Forest Conservation Act (I1) 1980
(D) Wildlife Protection Act (Iv) 1972

Choose the correct answer from the options given below :
(M A)- D, ®) -1, (C) - (1D, (D) - (IV)
(2) (A)- D, (B) - (1), (C) - (D), (D) - (IV)
(3) (A)-1V), (B) - (I, (C) - (11D, (D) - (1)
(4) (A)- ), (B) - (1), (C) - (D), (D) - (IV)

Arrange the following from lowest to highest dry weight in a biomass pyramid of a grassland ecosystem :
(A) Primary Producer

(B) Primary Consumer

(C) Secondary Consumer

(D) Tertiary Consumer

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D) @ (A),(C), (B), (D)

(3) (D), (©), (B), (A) @ (D), (C), (A), (B)

"Curitiba", a city in Brazil, is famouly known for its
(1) organic farming practices

(2) water network projects implementation

(3) integrated transport network system

(4) solid waste disposal system

SPACE FOR ROUGH WORK
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16. SHAPI-I F SIfARI-11 I (STTO NART -

ISP ) IGEIA
(IV STHNIIT W2/ AfS) L))

(A) I (STTI) W2 @ 1927

(B) TG I (I IS (I 1988

(C) IV HATHY 32N ) 1980

(D) INTATN ST THY W2 av) 1972

weTo T FREFTYRIRN AOF BSICG! AR FT -
(1) (A)- (1. (B)- 1), (C) - (11D, (D) - (IV)
2) (A)- (1), (B) - (11, (C) - (1), (D) - (IV)
(3) (A)- V), (B)- (D), (C) - (I1D), (D) - ()
(4) (A)- D), (B) - (1), (C) - (1D, (D) - (IV)

17. \2"1\2Ill <>1|<1|?<|\9\->3] 0] (Ges 1 AR FHRIIMRTe $Fw SGT ARSI
SEBICeT Oel® MRS SOGI! :

(A) NANF BLATHS

(B) ATIANH SATOISI

©) ForTs 1 fGer B9 THTersT

(D) TOTF I O B GATOIG

OeTe M RFFTRIVNRT AOF TSIC6T AR FaT -

(1) (A), (B), (C), (D) ) (A),(C), (B), (D)
3) (D), (C), (B), (A) 4) (D), (C), (A), (B)

18. JIfGER, “fRIPSRIGAT (Curitiba) (AT 5ZILN 3T I A& GO |
1) (GRE FR a0

Q) Gl STCTEN AFHI [T
(3) SPIRS ARIZY SATAS [
4) POV TGN TG T
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19.

20.

21.

22,

23.

24,

Which of the following gases give the lowest percentage contribution to total global warming ?
(1) N,0 (2) NO,

(3) CFCs (4) CHy
Nomadic movements are not considered as migrations because people move from one place to another

(1) for economic reasons (2) for social factors

(3) without any intention (4) for phyical reasons

Which of the following does not explain the relationship between human development and economic

development ?

(1) Capability expansion through economic growth
(2) Capability expansion through poverty reduction
(3) Capability expansion through social services

(4) Capability expansion through environmental degradation

The Gandhian economy model does not contain elements of
(1) multiplication of needs (2) rejection of class-war

3 rotectionism 4) nationalism
p

Which of the following method is most suitable for safe disposal of hospital solid waste ?
(1) Dumping (2) Incineration

(3) Pyrolysis (4) Composting

Arrange the following processes from start to end in a food distribution system :
(A) Packaging of food (B) Processing of food
(C) Storage of food (D) Marketing of food

Choose the correct answer from the options given below:

(1) (A), (B), (C), (D) (2) (©), (B), (A), (D)
(3) (A), (B), (D), (C) 4 (©), (B), (D), (A)
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19.

20.

21.

22.

23.

24,

(MR SLOR ANAF I@ AS *ro1e*1 RIS THF(ATOF FNCH N2 AT
(TR 1 2

(1) N,0 (2) NO,

(3) CFCs (4) CH,

TR A WIIAN] S5 AIGN e 49T V=Y FIRY G2 CFqo WL 2N
WNSTRe WR- (T FIR P A

|
(1) NLASF FRF 2) STNIGF FIIP
3) G I3 @) JIF IS
weTe MTANART fTUe fFE T THTN W TN OF THANI NG F=E 04T
NBIT ?
(1) TLAGF RIR GIIACS THTST ST
2) WRESl ZAFIOR AR STHENOT T2
(3) SATNINGP (TR (ACHM STHNO! TR
@) N ATHFILRI STHNOT T2

RIS R CEAVIIE) J OAMN AR NACE |
(1) ATITONT IV 2) YN ATV ST
3) SJHRM (4) GTOITOR™ T IALITORM

©eTo MR SATIERS fvoe BFLETe BT (R IO WETHAR [N mend
JIEN B SN GHATICG! F 2

(1) GIR]I NS (FTR WA ) OReI9 I [NIF® vz
(3) SIN-WTEA A AIRREAR R @) V6 I IR
ST RO AN SIS T OTIA ©eTo AR SIS :
(A) AT (BITHNETRIY M (AR

(B) YT AT AFIY A 2ARRS

(C) ATTATNRF 26T A (BTG

(D) AT RN 1 WCHfo3

TeTo Al RSFTYRINI 0T BSICoT IR BT -

(1) (A), (B), (O), (D) () (O), (B), (A), (D)

(3) (A), (B),(D),(C) 4) (O).(B), (D), (A)
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25. Which one of the following is an incorrect statement in the context of Gross Domestic Product (GDP) ?
(1) GDP does not measure the sustainability of growth.
(2) GDP helps to undersatnd whether economy is growing or contracting.
(3) GDP reflects annual trends of inflation and prices of commodities.

(4) GDP helps to understand shift in the annual changes in the country's economy.

26. Match List-I with List-II :

List-I List-11

(Protocol/Convention) (Year)
(A) Kyoto Protocol D 1987
(B) Montreal Protocol an 1997
(C) Bamako Convention (III) 1989
(D) Basel Convention (IV) 1998

Choose the correct answer from the options given below :
(1) (A)- V), (B) - (D, (C) - (1), (D) - (II)
() (A)-(1V), (B)- D), (C) - (D), (D) - (IN)
(3) (A)- ([, (B)-(1IV),(C) - (D), (D) - (IN)
) (A)- (D, (B) - (D), (C) - AV), (D) - (1)

27. Petroleum present in sedimentary rocks of a region can only be used when such regions are drilled out and
put into use. Such petroleum reserves fall under the category of

(1) Actual resources
(2) Potential resources
(3) Stock resources

(4) Reserve resources

SPACE FOR ROUGH WORK
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25. WS T G AN (GDP) TVMo® weTw Tl [RSIIRT [TOTS (FI6l &G ?
(1) GDP- QI J(&i] I ol (G N2 |

(2) GDP-CY WAOF I@( FTHH TR T JOT© 2T IS |

(3) GDP-(T YAPTHINS W ATANNT @ ARS AT Af ST HF |
(4) GDP-(T (¥4 WL IMF A[ITONS TOI AT JG® A= F(A |

26.

27.

(15)

SIfASI-1 F SIfeTFT-11 I (500 AT
SIfASI-1 SIfe 111
(AT F /) Gk
(A) RO A= 1 1987
®) WG HBF= a 1997
(€) MNCH e am 1989
(D) MR AfqeT avy 1998

OeT® (A RSFTYRI NI O F SSICGT AR F -

(1) (A)- V), (B) - (D, (C) - (IN), (D) - (II)
(2) (A)-AV), (B) - (D, (C) - (1), (D) - (ID)
3) (A)- ([, (B)-(1V), (C) - (D), (D) - (IN)
) (A)- (D, (B) - (1), (C) - AV), (D) - (II)

(PN 2T (TR PATEIS AT (TFIAIN (SFOANZ I B A W (IS
(T2 BTG YNNPI el (TAI] WRIY FM I | (SR SIHFS (HIferarw

(NN A |
(1) APO ™M
2) TSR I TSR TR
3) B I WG AR
4) eSS
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28.

29.

30.

31.

32,

33.

Which of the following "water storage” types are commonly used in Bihar ?
(A) Bhundhis (B) Ahar

(C) Kulhs (D) Pynes

Choose the correct answer from the options given below :

(1) (A)and (C) only (2) (B) and (D) only
(3) (A) and (B) only (4) (C) and (D) only

The diversity of organisms that shares the same community/habitat is called as

(1) Beta diversity (2) Gamma diversity
(3) Alpha diversity (4) Genetic diversity

Which of the following is not a basic pillar of sustainable development ?
(1) Environmental preservation (2) Social equity

(3) Economic growth (4) Urbanisation

Which of the following is a Kharif crop ?
(1) Wheat (2) Rice
(3) Cucumber (4) Mustard

The concept of Joint Forest Management does not include :

(1) Government works closer with local people to manage forests.

(2) Locals use forest resources in response to protecting forest ecosystem.
(3) The infrastructure development at the cost of forest resources.

(4) Sustainable conservation of forests.

The ability of the environment to absorb and render removal of harmless waste and pollution is referred to

as:
(1) source function of ecosystem
(2) sink function of ecosystem

(3) carrying capacity of ecosystem

(4) optimal capacity of ecosystem
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28.

29.

30.

31.

32,

33.

IR GO "G AL '] 09 MAT (FINRIR AG[© ATLRCO IS BT ?

(A) 9B (Bhundhis) (B) 2T (Ahar)

(C) FIZ (Kulhs) (D) 12N (Pynes)

TS Wl REFTIZIR SAOF TSRO IRV FT

(1) C(PLT (A) AT (C) (2) (P (B) A< (D)

(3) (FLe (A) AT (B) 4) (P41 (C) &I (D)

GIiT T [Io@2 GTHF1 (M6 I JFLN IFNHZ N o9, O @l =7
|

(1) 361 c3foar ) ST 3oy

(3) ST (I @ G =fea

TeT® MIANTRS fOO® (PO IZVHN OFINT (N T AT BE ¥ZF ?
(1) *NRIANF TsT59 A1 [T 2) ATNIGF TNl

3) A e (4) NNAPIY
e® MANIIRR fYole (FARY AIf<TH #1577 2

(1) (N2 2) 4™

3) o= ORRIERE

ﬂj?f?ﬂ AT FIEIANT (Joint Forest Management) (16T IS99 WRNS (VI

IEREMIEGE

(1) |V FIZNNR AT 5PN AT AR 5ite [Noeng Gfiee 2 W
PE

2) WINT ARECog JIFFe FIF AfS S2RF GRRE VT @NF TINI ST
MRV PE |

(3) RV N o BiF AS3 5T SHIN F1 =T |

4) I IRAPPY ST |

SR TG TS WA T ARG A9 Y 277 R S ooy

PRI A FNOIP (I 2 :

(1) Wﬁfif@\‘);ﬂq @QH&“@(source)W

@) ARECOFT ATSH (sink) I

3) ARBFCoFI I FHOI

@) ARFCOFT OV I TJFAON FIO|
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34. Which of the following is the main characteristic of perpetual resources ?
(1) Consumption at very fast rate (2) Continuous availability at limited rate

(3) Unconditional availability (4) Not formed naturally

35.  Arrange the following radiation in increasing order of their wavelength :
(A) UV-C
(B) UV-B
(C) UV-A
(D) Infra-red
(E) Microwave
Choose the correct answer from the options given below :
(1) (C), (B), (A), (D), (E) 2) (A), (B), (O), (B), (D)
(3) (A), (B), (C), (D), (E) @ (B), (D), (©), (B), (A)

36. A bee-keeper in an orchard enables pollination and fertilisation of the orchards’ shrubs and trees. This is an

example of
(1) negative production externalities (2) negative consumption externalities
(3) positive production externalities (4) positive consumption externalities

37. Arrange the atmospheric layers starting from the Earth’s surface upwards :
(A) Mesosphere
(B) Stratosphere
(C) Stratopause
(D) Mesopause
(E) Troposphere
Choose the correct answer from the options given below :
(1) (B, (C), (B), (D), (A) ) (E), (C), (B), (A), (D)
(3) (E), (B), (C), (A), (D) 4 (E), (B), (O), (D), (A)

SPACE FOR ROUGH WORK



307 EAS/A (19)

34.

35.

36.

37.

OeTo MAAIRS fOoI© (FGT HIF T2 e (LT 2
(1) I ARG OO SATOS F1 2

2) JBRF Ao T 2 (@18 NI Gaorer

(3) 2T TOreIs GHNeTorel

4) J3RR AFOFONS T N2

weTe Bred $1 [RIFITYR SRR 9909 % S CHap ¥ ST
(A) AFSTIGNI-C

(B) SINSIIGNIT-B

() FSTIGT-A

(D) WQAIRO

(E) WI2&p'(R©

weTe M FREFTIZINI ADF G@Io! AR F -

(1) (©), (B), (A), (D), (E) (2) (A), (B), (O), (E), (D)

(3) (A), (B), (O), (D), (E) 4) (E), (D), (O), (B), (A)

FANAF AR ALNS Q5B CANIATAS AR STAGTOIT B BR W SR

AT WP TNIIEN oM F2IA HCF | (2R J 51 GRIRIY |
(1) (NOABF TLAMN JIRTFO! Q) ((FSABF BATIY AfRTHO!
(3) 2GS TEAMA JRIFol @) 2fOIHH BATSI 2Tl

DI WES HI 0eTo (AN ATNQAT BITYR O F O AT -
(A) (TR 1 VTN

(B) (ZIOIFHFIIR I BINQH

© C(ZLEING

(D) (NR'AG

(E) § (AT A CFroNSs

TeTo Tl RSFTYRINT SAOF TS0 AR BT :

(1) (E), (©), (B), (D), (A) 2) (E), (O), (B), (A), (D)
) (E), (B), (O), (A), (D) (4) (E), (B), (O), (D), (A)
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38.

39.

40.

Which of the following is associated with Ozone destruction in Stratosphere ?

(A) CFCs

(B) Polar stratospheric clouds

(©) UV-B

(D) UV-A

(E) Clradicals

Choose the correct answer from the options given below :

(1) (A) and (E) only (2) (A), (B) and (E) only

(3) (A), (C)and (D) only 4) (A), (B), (C) and (E) only

Which of the following are examples of resources ?

(A) Materials (B) Energy

(C) Knowledge (D) Services

Choose the correct answer from the options given below :

(1) (A)and (D) only (2) (A), (B) and (D) only
(3) (A), (B) and (C) only 4 (A), (B),(C) and (D)

Which of the following treaty prohibits the import of any hazardous waste (including radioactive waste)
into African nations only ?

(1) The Basel Convention (2) The Capetown Convention
(3) The Bamako Convention (4) The Madagascar Convention

Read the following passage and answer the next five questions :

Agricultural runoff, sewage and industrial effluents are major causes of deterioration of water quality in
lakes and ponds. Productivity of lakes and ponds (for example algal bloom and phytoplankton bloom)
increases manifold due to agricultural runoff as well as due to excess inputs of nutrients including limiting
nutrients, but this continuous increased productivity leads to death of lakes and ponds. The dissolved
oxygen, BOD, temperature, turbidity and salinity are important parameters of water quality in a lake and
change naturally on day and night basis as well as seasonal basis. But, anthropogenic inputs change these
parameters abruptly and adversely impact water quality of the lakes. As a result, water in lakes and ponds
does not remain fit for human consumption as well as for livestock. Immediate attention and affirmative

actions are needed to protect lakes and ponds in our environment.
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38.

39.

40.

(BB A BINGTS WG R (TS OeT® AT SO (I 7T 2
A) PFP'Y PN (CFCs)
(B) (NP B« BINGAT (VY (Polar stratospheric clouds)

() OIIGN-B

(D) WMSTIGNT-A

(B) Cl JeTPTYR

TS A REFTTYRINI AFOF BSIoI IR FT -

(1) (I (A) A< (E) 2) (P (A), (B) < (E)
(3) (R (A), (C) < (D) (4) (R (A), (B), (C) AT+ (E)
et MANRS [Oo0 (PN TMF GRIZIY ?

(A) WT@%TT@(Materials) (B) “T@(Energy)

(C) &I (Knowledge) (D) fIfSN (11T (Services)
TS Al REFTYRINI AT BSIoI IR FT :

(1) (P (A) A< (D) ) CPF (A), (B) < (D)
(3) (R (A), (B) ¥ (C) 4) (A), (B), (O) ¥ (D)

TR (PN GSTT (CGHT NGRS ¥ HAT AFRI [RACTAS WG
(P PP (MR AR PO (NI I PR ?

(1) QA AfqeAN @) ™ (FHOS Afqaw

(3) NI AqeA~ ORI RIEIERIEGE

WHILBT WTATTIITIT NBT W I 0! ATG6! NI Oad i -

TN WF YA W W WG GEAPTI AT BTN FINS T AL B
=R JRRIRA Tl FAGTS TRGARE G, FHNR (AN SF STHF
WRGAR IZ:2AZ | FROTS WTENR Tz O FS@ 29w 5% 1 & Nioe
AFFRFTE NN ATET NN© N2 (IR FAFHA TN W YYRNRRI
B AV NeTO! (SHIRITHACA C5RIA TFoN WF SIGHATF W) ToIEF IS
I T | TG OeAMaOR g2 WkITe I@T (IO ZN WF YYRNQ[S
GRS 1 FF HRIIE T O My | 5aee SFH[IOW, (GRS
WfFCG GIfFZA (BOD), TH@l, WfIeTol I (TATNTST WF TITST (T ZN- YA
WM NN BNLIR SFGAS A6 I (AN WFE AFodon M-S
TP O AG WPIRS 3[R ARTON 96 A | FE TGiNe IR
fFZAT G2 A6 A (RGN WL A TSN 612 ZIH-LINT AT B9
VNS FAOR (AT | 2R FAFAN (SR IR W YA NN WYL= (AR
YT (TR ANO TGS AIS AT (= NI | (IR AWK B[
ART® I N W ARRR JFC FR WK A6 w[e@m =gy ™
ATAGINIT 2fSAEF ARTHFANER (-7 O |
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41.

42,

43.

44,

45.

Continuous increase of productivity of lakes eventually causes :
(1) Biomagnification in lakes

(2) Bioaccumulation in lakes

(3) Eutrophication in lakes

(4) Bioconcentration in lakes

Dissolved oxygen in water

(1) remains constant in winter and summer
(2) remains low in winter and high in summer
(3) remains high in winter and low in summer

(4) doesn't depend on temperature of water

Excess suspended particles in lake water due to agricultural runoff result in :
(1) high salinity.

(2) high turbidity.

(3) high dissolved oxygen.

(4) high BOD.

Water in lakes having very high algal and phytoplankton growth is expected to have :
(1) high dissolved oxygen.

(2) high dissolved oxygen and high BOD.
(3) low dissolved oxygen and high BOD.

(4) low dissolved oxygen and low BOD.

Which of the following is a limiting nutrient in lakes and ponds ?
(1) Iron (2) Phosphorus

(3) Magnesium (4) Sulphur
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41.

42,

43.

44,

45.

T8 Aol WRI® I IS WIS oI
(1) ZMS (OR-RA% 1 AT HHRA

2) ZUF (G- 1 ACA-IF YR

3) ZWd ASHfTod 1 230G FFe

4) ZMS (GE-TNoI T ACNICHATIRA

ATNS TGS AFGT AR

(1) MoIE FE IS P2 ATH

2) NSIETS FACT WF NUFT© HAEF ATH

() NMOFES AF AF NAFET© FACE AH

@) NI THOR 8HT© NG TH R

FAG® TGN TR FTO IS AA© TOIEGH AN FfvFrorery syl
RS (2 A ST FE:

(1) GG FgTO

2) BB STl T (ATl

(3) AF TGO A HGH

4) AP (ORI AHGH BIRAT (BOD)

TR W BfERATFT NOIEF LS I ToI ZHI NS Ao A :

(1) WfEF TIGS AHTG

2) AEF TGO NHGH AP NGF (GRS AHCGH BIRAT (BOD)

(3) IA ARVR TANGS AHTGH HE AEFH (ORI P N HGH BIRAT (BOD)
@) FN ARVR TNGO AHAGH A FN (SRIATT NS FHGH BIFRAT (BOD)
O® MRS (OO (PG TN W HYIARES T 67 5IW 1 Fo: 23w 2
(1) (o2 I H3IN Q) TRTER

(3) (NI (4) RETPR
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46.

47.

48.

49.

50.

Read the following passage and answer the next five questions :

Species interaction and the productivity are two important components of any given ecosystem. In an
ecosystem, interspecific interactions arise from the interaction of population of two different species. Such
interactions could be beneficial to both species, harmful to both species, beneficial to one and harmful to
other or vice-versa. There are also cases that exist where only one species is harmed or benefitted and the
other remains unaffected. On the other hand, productivity of an ecosystem starts with photosynthesis by
green plants and is measured as amount of biomass produced over a period of time. Such biomass becomes
available for consumption to heterotrophs.

The available biomass for consumption to herbivores and decomposers is often referred to as :
(1) Primary production

(2) Gross primary productivity

(3) Net primary productivity

(4) Secondary productivity

Rate of production of organic matter during photosynthesis is referred to as :
(1) Primary production (2) Gross primary productivity
(3) Net primary productivity (4) Standing crop

Which of the following are correct for the interaction between sea anemone that has stinging tentacles and

clown fish ?

(1) Both species are benefitted

(2) Both are harmed

(3) One is harmed and the other is benefitted

(4) One is benefitted and the other remains unaffected

The species interaction in which both interacting species are harmed is referred to as :
(1) Predation (2) Parasitism

(3) Competition (4) Mutualism

Mycorrhizal association between fungi and the roots of higher plants is best referred to as :
(1) Commensalism (2) Amensalism

(3) Mutualism (4) Competition
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46.

47.

48.

49.

50.

WHILBT NTATTIITINT HBT W AIT6! AT56I AT Oa< .

ATMOT ATAR[TF (T W® T A eTol FNHAT AR o7 701 SFgyf
AN AR ©go 7ol foq AGMOT Gy ATARE (PR o«
WS AT ANTHNRF (TR 3 =W G NR{F T raier aonfes
TAFIS, TAO! NGO AR FOIEF, GO I AR WF NG AR
FoFRP T M| 2R [AMO G [FEAW CFa8 MR I W J6T AGIROF
O I THIR TV WE A0 AGOF 8AITS (FICAT O VNI | NS, AR
©F] O ATTNMTS (TGG BIGHI SEAF MTATNT A WS T W 20 6T
MY foote OeAfMe (ORIa AR Rens gfil ANkl 9= (O[3
(ROIGPAS (Y[R I OAAF (X AE|

TNOTG] W WATHHIIRT (Decomposer) GATOIN AT (SIGHF AT SAOF ITATNR
1 (OO HHRYVON ({1 = :

(1) AT B AN ) SIS ATARF TS A~ IeTar

(3) PG 1 (6 ATANF BLATTATO!  (4) (N I ROTTH B AT

SICERE SHLTEFR ST B8 AN (IR (GP AMILT B AMN TIF (e 2 :

(1) 2NAF BAMN ) SIS AAF B A= eTar

(3) PO A (N6 ATAF Aol (1) S *17

TINBIR! BT SEF AN vﬂ'ﬂﬁ’rsr IYGIT®) SE PO T I2<T RS NGT
WA NBEIR” CFa© ©0eTo M (PTGl 8 ?

(1) RINC AGUFSY erelfge =

(2) MLNC! GO 5o =Y

3) <01 Ao O Y WP WO ATOIFo =

4) ST AGTS ArSIFO T WE HNCGIF SANTS (BT G NI

HAGIIORIRT WG B W@ToES STEGow 76l AGeR Ffo =T O
(e Ry :

(1) IR A ATOH Q) NTGIFer
(3) Afsrforer 4) RGBT

(SPI WF CHB T GG NI FHT NG ToI TOGNIIATTAS T N2 KRG Gror

WQIDCBND HB@\‘QIN (1T R :
(1) NEETON) ) LB ETCT O (Amensalism)
) ﬂi@llawl?ﬂﬂﬁlﬂaﬂlﬁ\or 4) AfsrIIfTer
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